EFRARS: 600185  IEHMIAR: #&S1Hh= AERES: IF 2022-036
fRF5ARFL: 150385, 143195, 143226, 188259. 185567
RESRIFR: 18 #%HE 01, 18 k&b 02, 18 #&Hh 03, 21 k& ik 02, 22 #&Hh 02

1 ST B A PR
2022 S =W R AR SRV AE

ANEEEFLREREFRIIANEABLNFAEMERIDHK. RIFERR
AEEABRR, LA EZE, EREA T EEAENF R EF T,

HENERTR:

® ARZUVGETHATRUE: I

= =WEITFRHFEER

() AR HAIFHIEE: 2022 44 H 11 H

() WARSATRM . BREET ATt 213 5

(=) WV BB R AN R R G DL SEEB R B EL A A 1% L -

1. SRR AR AAREE NN 17

2 HE S AR TR R i OO 896, 721, 010

3+ HUM 2 WA Pl 355 A SRR A4 B 3 28w A R A
T SEHIEEB] Co)

47. 0858

(M) RETAREE QAR L AQFERE) BE, K EREIE.
ARBARZHEFEZ AR, HAFRERKER, RIS BERE S WSS

SEAES 7 AT Lo R R WA S AT . U SN 5158

W N RRIEFF R (PR NRIEHEARRE) kaw () FFE.

(1) »~FEHR WEMERSBHHETEL

I AAEEEF I N, HEI N

2 NEEAERHE 3N, HFE 3 A,




3. Al mEmBEEN ZHIE L.

S R
() FREHREE
L WRATR. TG A
W i
bR
A R i
R me Juweo| me | V) me | Y
A 896, 620, 410 | 99. 9887 50, 600 | 0. 0056 50, 000 | 0. 0057
2 WREH KTEHAT (GHR) WiLE
T,
T
A Rl i
R me Juwoo| s | 0| me |
AR 896, 619,810 | 99.9887 | 51,200 | 0.0057 | 50,000 | 0. 0056

3. WEAMR: KT L IESLHEF R A AR /) 55 58 B3 BT H J s [P B e AT A

R BIK AKN TR BN BT IR

FLE .
FUEIL:
Bl 5 %t e
e % 2K L 451 e
- 8 ) | 2 =
(%) (%)
A R% 896, 612, 610 | 99. 9879 58,400 | 0.0065 50, 000 | 0. 0056
(7)) BREKET, 5% RN DN




=l
Ei

PES WERAR

&) I
Le g1 ; tL 1
(%) (%)

pli
s

EEA1 (%)

]
&

v
J
]
&

1 TR K | 50,280, 630 | 99.8003 | 50,600 | 0.1004 | 50,000 | 0.0992
(5] ¥ 38 2% B A7 119

W

3 o F &b s I | 50,272,830 | 99. 7848 | 58,400 | 0.1159 | 50,000 | 0.0992
B2 oy 5 4R B
S B IH A K
[l i B¢ & A0 R
5 BB &R A AR
FEUL B B 5 W

S

(=) RTUERRRA RG]
ARBARR W EEH VOB, HAe 1. 2 BUCERRIR RO, R1E
S 2 BUBZR T3 R AU 3 2 80 2/3 DA Bl .
=, BJRIERR
Lo AR R WAL AT S5 e At iAo (Bife) M55
(YT T VN N 2.5 7
2. T LRSS R R
RURBAR R AL HITREFFRF G5 ATBUEMAIRE S & (A ]
BAE) MIRLE, AR K= A N B AR R 2 N 3 B SRR R 2 R ok
B EEA R, R KSR GERIR R IR G
m. KEXHEF
1. ORI IAR AT R A 7] 2022 4258 = IR IR R 2R K 23 i)
2. ErtiaEE R BINHSHOCT = BT IR A 7 2022 45
=R BR K2 R LA

fit Fy M= B A BR 2
20224 4 A 11 H




